ECHO Deutschland (#72000), zubehsr schffAAMM sefsatzb®ll-service.de

SS-500-40 (#5/0)

151
-
I
\ a2
'«/ 173 [ : !
~ o |
—C Ay .nh/') ‘ \ ” I
163 ‘139
168-_g'
x Vat EEQ?Q
172
186
Stuckliste:
Ref. # | Artikelnr. Artikelname Menge Beschreibung
002 |36-90100-06016|Schraube M6x16 4.0000 St
004  |36-90700-00006|U-Scheibe U6 8.0000 St
007 36-90100-08030|Schraube M8x30, Sechskant 1.0000 St
008 |36-90700-00008|U-Scheibe U8 1.0000 St
011 36-90650-00006 |Mutter M6, selbstsichernd 8.0000 St
015 28-10-0001-0 |Verrieglung,Schwenkeinrichtung |1.0000 St
017 |28-80-0005-0  |Druckfeder 1.0000 St
151 06-10-0001-0 Schneeschild 125CM 1.0000 St
152  |28-10-0032-0 |Kipphalter-SS-500-40E 1.0000 St
155 |06-75-0001-0 |Schurfleiste 125cm 1.0000 St
156 06-30-1216-00 |Halteleiste 1.0000 St
157 |06-32-7133-00 |Gleitteller 2.0000 St
159 |06-18-3182-00 |Haltebolzen SS-101 1.0000 St
163 06-25-8706-00 |Feder SS-101 2.0000 St
164  |06-18-8713-00 |Schraubdse SS-101 2.0000 St
167 |06-01-8206-00 |"Schraube 5/16""UNFx 1.1/4™" 7.0000 St
168 06-04-8275-00 ["Mutter 5/16""UNF selbstsichernd”|7.0000 St
169 |06-08-8197-00 |"U-Scheibe 5/16™" T4 Hp" 14.0000 St
172 06-04-93815-00 |Sicherungsmutter M10 2.0000 St
173  |36-90700-00012|U-Scheibe U12 2.0000 St
186  [28-80-0007-0 |Federstecker 3 mm 2.0000 St

21 referenz(en)

Ihr Ersatzteilspezialist im Internet



www.ersatzteil-service.de

Ihr Ersatzteilspezialist im Internet





